10.

11.

12.

PART-A

Which of the following is CORRECT with respect to grammar and usage?

Mount Everest is

(A) The highest peak in the world (B) Highest peak in the world

(C) One of highest peak in the world (D) One of the highest peak in the world
The policeman asked the victim of a theft,

“Whatdidyou 77

(A) Loose (B) Lose

(C) Loss (D) Louse

Despite the new medicine’s in treating diabetes, it is not widely.
(A) effectiveness --- prescribed (B) availability --- used

(C) prescription --- available (D) acceptance ---- proscribed
The unruly crowd demanded that the accused be without trail.

(A) Hanged (B) Hanging

(C) Hankering (D) Hung

Select the most suitable Synonym for the word ‘ABSTRACT’.

(A) Peculiar (B) Summary

(C) Normal (D) Diagnostic

Select the most suitable Synonym for the word ‘STALWART’.

(A) Watchful (B) Sturdy

(C) Delicate (D) Encomium

Select the most suitable Antonym for the word ‘AGGRAVATE’.

(A) Segregate (B) Adulterate

(C) Ameliorate (D) Accommodate

Select the most suitable Antonym for the word ‘CONSIDERATE’.

(A) Comprehensive (B) Atrocious

(C) Malignant (D) Indifferent

Select the pair which shows the same relationship as ADVANCE : RETREAT
(A) BUY: SELL (B) PUSH : PULL

(C) CREATE : DESTROY (D) FORWARD : ONWARD
Choose the appropriate set of words that makes the sentence most meaningful:
He was very clever, but he performed excellently.

(A) certainly, obviously
(B) never, also

(C) not, always

(D) rarely, seldom

Which type of output device creates coloured images which look and feel like photographs?
(A) Electrostatic plotter (B) Laser printer

(C) Dye sublimation printer (D) Inkjet plotter

What does GPRS stand for?

(A) Global Position Reading System
(B) General Packet Radio Service
(C) Global Packet Radio Service

(D) General Position Reading System
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

IPR protects the use of information and ideas that are of

(A) Ethical value (B) Moral value
(C) Social value (D) Commercial value

India became a member of which one of the following in 20167

(A) Non-Proliferation Treaty

(B) Missile Technology Control Regime
(C) Nuclear Suppliers Group

(D) Wassenaar Arrangement

Which one of the following elements is used as a timekeeper in atomic clocks?

(A) Potassium (B) Caesium

(C) Calcium (D) Magnesium

Find the odd man out:

(A) Mercury (B) Mars

(C) Moon (D) Venus

How many times, the two hands of a clock will be at 30° with each other in a day?
(A) 36 (B) 40

(C) 44 (D) 48

By selling 30 articles, a shopkeeper gained the selling price of 10 articles. Find the profit percentage.
(A) 20% (B) 30%

(C) 50% (D) 40%

If a man runs at 6 meters per second, what distance (in km) will he cover in 3 hours and 45 minutes?
(A) 81 (B) 96

(C) 91 (D) 27

Complete the series 17, 19, 23, 29, 31, 37,...7

(A) 41 (B) 43

(C) 40 (D) 42

Complete the series 64, 125, 216, 343, ....7

(A) 64 (B) 424

(C) 317 (D) 512

If x +y = 4, find the maximum/minimum possible value of x* + y2.

(A) Minimum, 8 (B) Maximum, 8

(C) Maximum, 16 (D) Minimum, 16

If k is natural number and (k?- 3k + 2) (k*- 7k + 12) = 120, find k.

(A) 7 (B) 6

(C) 5 (D) 9

Find the nature of the roots of the quadratic equation 2x?+ 6x -5=0
(A) Complex conjugates

(B) Real and equal

(C) Conjugate surds

(D) Unequal and rational

Complete the series GKF, IPC, LTY, PWT, UYN, ...?
(A) ABZ

(B) XBX
(C) XAH
(D)
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26.

27.

28.

29.

30.

31.

32.

33.

34.

PART-B

Inactive Company means a company which has not been carrying on any business or has not filed
financial statements and annual returns during-

(A) The last three financial years
(B) The last two financial years
(C) The last four financial years
(D) The last five financial years.

The Companies Act, 2013 has done a tremendous job by providing Company's Social Responsibility
(CSR) as a mandatory activity. A company has to comply with mandatory CSR norms where,

(A) The net worth of the company is INR 1000 Crores or more

(B) The turnover of the company is INR 1000 Crores or more

(C) Its net profit during any financial year is INR 50 crores or more
(D) Its paid-up share capital is INR 200 crores or more

The proper authority for convening a General Meeting of a company is the

(A) Chairman of the Board of Directors
(B) Managing Directors

(C) Board of Directors

(D) Shareholders

Delegated legislation in India can be decided for post-constitution period. This was held by the court in
the case of-

(A) Queen v. Burah

(B) Re. Delhi Laws Act,1912

(C) J.N.Gupta v. Province of Bihar

(D) Kameshwar Prasad Singh v. State of Bihar.

The Supreme Court of India formulated the doctrine of eclipse in

(A) Bhikaji Narain Dhakras Vs State of M.P.

(B) Bashesharnath Vs Income Tax Commissioner.
(C) State of W.B. Vs Anwar Ali Sarkar

(D) Maneka Gandhi Vs Union of India

The privilege to withhold the documents/information under the Administrative Law is enacted in which
of the following Sections of the Evidence Act.

(A) Section 120 (B) Section 126
(C) Section 123 (D) Section 98

The Concurrent List was described as a ‘Twilight Zone’, as it were for both the Union and the States
are competent to legislate in this field without coming in to conflict” is stated by

(A) Basu, D.D. (B) Dicey, A.V.

(C) Pyle, M.V. (D) Ambedkar, B.

Assault or use of criminal force to woman with intent to disrobe is provided under

(A) Section 354-A
(B) Section 354-B
(C) Section 354-C
(D) Section 354-D

Rules relating to sapinda relationship are based on

(A) Principle of Endogamy
(B) Principle of Exogamy
(C) Principle of Polygamy
(D) Principle of Monogamy
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35.

36.

37.

38.

39.

40.

41,

42.

The Convention on the Elimination of All Forms of Discrimination Against Women (CEDAW) was
resolved in the year

(A) 1980 (B) 1976

(C) 1988 (D) 1979

Overtime for the purpose of wages is dealt under Minimum Wages Act 1948 with reference to

(A) Section 10
(B) Section 18
(C) Section 14
(D) Section 30

Assertion (A): International Law Commission has initiated studies and prepared draft codes on diverse
fields in international law.

Reason (R): International Law Commission was established under General Assembly Resolution No.
174 (11) adopted on 21 November 1947 with an object to promote, progressively develop and codify
international law.

Codes:

(A) Both (A) and (R) are true.
(B) (A)is true but (R) is false.
(C) (R)is true but (A) is false.
(D) Both (A) and (R) are false.

The term Retrenchment is defined under Industrial Disputes Act 1947 with reference to
(A) Section 2 (aa)
(B) Section 2 (cc)
(C) Section 2 (00)
(D) Section 2. (a)

In which of the following cases, the Supreme Court held that the principles of natural justice are
applicable to administrative proceedings?

(A) M.C. Mehta Vs. Union of India.

(B) Maneka Gandhi Vs. Union of India.

(C) A.K. Kraipak Vs. Union of India.

(D) Smt. Indira Nehru Gandhi Vs. Raj Narain.

Right to live, a fundamental right under Art.21 of the Constitution, includes the right of enjoyment of
pollution free water and air for full enjoyment of life was propounded by the Supreme Court in case of

(A) Subhash Kumar v. State of Bihar
(B) Charan Lal Sahu v. Union of India
(C) M.C.Mehta v. Union of India

(D) A.P.Control Board v. M.V.Nayudu

Provisions relating to the establishment of the Environmental Laboratories is enshrined under which
section of the Environment (Protection) Act 1986

(A) Section 10
(B) Section 12
(C) Section 18
(D) Section 24

Transfer of name of an advocate from one state roll to another under Advocate Act,1961is enshrined
under which section

(A) Section 12

(B) Section 15

(C) Section 18

(D) Section 30
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43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

The Provisions relating to penalty for illegally practicing in courts and before other authorities of
Advocates Act, 1961 is provided under

(A) Section 44 (B) Section 53
(C) Section 45 (D) Section 48-A

The writ of certiorari necessarily implies that

(A) An error of fact, cannot corrected.

(B) An error of law apparent on the face of the record can be corrected.
(C) Violation of natural justice.

(D) None of the above.

The Trade Marks Act, 1999 came into force with effect from

(A) 1.1.1999 (B) 04.2.1999
(C) 15.09.2003 (D) 01.04.2003

The powers of the Controller in case of potential infringement under Patents Act, 1970 is enshrined
under which section

(A) Section 15 (B) Section 20

(C) Section 32 (D) Section 19
Literary work is defined under which section of the Copyright Act, 1957
(A) Section 2 (k) (B) Section 2 (1)

(C) Section 2 (n) (D) Section 2 (0)

The provisions relating of Power to extend copyright to foreign works is provided under which section
of the Copyright Act, 1957

(A) Section 39 (B) Section 39-A

(C) Section 40 (D) Section 44

The term a Truncated Cheque in the electronic form is defined in the Negotiable Instruments Act, 1881
under

(A) Section 6(a) (B) Section 6(b)

(C) Section5 (D) Section 8

The rule of latin maxim nemo dat quod non habet under the Sale of Goods Act is contained in
(A) Section 27 (B) Section 29

(C) Section 30 (D) Section 33

Novation of a contract means

(A) The renewal of the original contract

(B) Substitution of a new contract in place of original contract
(C) Cancellation of contract

(D) Alteration of the contract

Which Section of Contract Act defines, "A proposal may be revoked at any time, before the
communication of its acceptance is complete as against the proposer, but not afterwards.'

(A) Section 7
(B) Section 6
(C) Section 5
(D) Section 4

Which one of the following pairs does not match?

(A) Novation of contract - Section 62

(B) Agreement in restraint of legal proceedings - Section 29
(C) Tender of performance - Section 38

(D) Unlawful object and consideration - Section 23
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54.

55.

56.

57.

58.

59.

60.

61.

62.

Rule laid down in Rylands v. Fletcher is known as:

(A) Absolute liability rule
(B) Scienter action rule
(C) Strict liability rule
(D) Fault liability rule

A breach of rule is called
(A) Duty

(B) Right

(C) Wrong

(D) Prevention

The real significance of legal damages as illustrated in the law of torts contains in the maxims

(A) Injuria sine damnum and damnum sine injuria
(B) Alteram non leadere
(C) Ubi jus ibi remedium
(D) Audi alteram partem

Which of the following Articles declares that 'there shall be a President of India'?
(A) 50
(B) 51
(C) 52
(D) 53

In which of the following cases, the question regarding 'reservation' was considered by the Supreme
Court for the first time?

(A) Mandal Commission's Case

(B) Romesh Thaper v. State of Madras
(C) Champakam Dorairajan v. State
(D) A.K. Gopalan v. State of Kerala

“Case-law is gold in the mine-a few grains of precious metal to the tons of useless matter, while the
statute law is coin of the state which ready for immediate use”. Who gave this statement?

(A) Bentham
(B) Salmond
(C) Kelsen

(D) Holland

What is meant by "Court of Record"?

(A) The Court that is competent to give directions and issue writs

(B) The Court that maintains records of all lower courts

(C) The Court that preserves all its records and has ability to fine or imprison
(D) The Court that can punish for its contempt

The source of India's sovereignty lies in the:
(A) President

(B) Prime Minister

(C) People of India

(D) Preamble to the Constitution

The provision for 'Divorce by Mutual Consent' is provided under which section of Hindu Marriage Act,
19557

(A) Section 13(1)

(B) Section 13(1)(a)

(C) Section 13 A

(D) Section 13 B
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63.

64.

65.

66.

67.

68.

69.

70.

71.

Who can apply for Maintenance pendente lite and expenses of proceeding under section 24 of the
Hindu Marriage Act, 19557

(A) Either the wife or the husband

(B) Wife

(C) Wife, including minor children

(D) Wife, including minor children and unmarried daughter

According to the Hindu Minority and Guardianship Act, 1956 the natural guardianship of adopted son,
who is a minor passes on adoption to

(A) The adoptive mother

(B) The adoptive father

(C) Both the adoptive mother and father
(D) To the family of the adoptive father

The accused fired two shots with a revolver at point blank range at the Acting Governor but the bullets
failed to produce the desired result because of some defect in the ammunition or intervention of leather
wallet. What offence is caused?

(A) Culpable Homicide
(B) Attempt to Murder
(C) Attempt to harm
(D) None of them

Concealment of pre-marriage pregnancy by the respondent is a ground of
(A) Void marriage

(B) Irregular marriage

(C) illegal marriage

(D) Voidable marriage

Nothing is an offence which is done by a child

(A) Under seven years of age
(B) Under ten years of age
(C) Under five years of age
(D) Under twelve years of age

Section 497 of the Indian Penal Code was struck down by the Constitution Bench of the Supreme
Court in

(A) Justice Puttaswamy vs. Union of India
(B) Lok Prahari vs. Union of India

(C) Joseph Shine vs. Union of India

(D) Common Cause vs. Union of India

A finds a ring lying on the highroad, not in possession of any person. A by taking it may commit:

(A) Theft

(B) Criminal misappropriation of property
(C) Criminal breach of public trust

(D) No offence

‘Attested’ in relation to an instrument under Transfer of Property Act means and shall be deemed
always to have mean attested by at least:

(A) One witness (B) Two witness

(C) Three witness (D) Four witness

Section 13 of the Transfer of Property Act deals with:

(A) Conditions restraining alienation

(B) Oral transfers

(C) Transfers for the benefit of unborn child
(D) Registration of transfers
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72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

An act of part performance must be an act in performance of:

(A) Crime (B) Tort
(C) will (D) Contract
Gift is defined under which section of Transfer of Property Act?
(A) 116 (B) 117
(C) 122 (D) 123

The physical element of possession is also called as

(A) Ratio decidendi

(B) Corpus decidendi
(C) Corpus possessionis
(D) Animus possidendi

What is nafaqa?
(A) Gift

(B) Inheritance

(C) will

(D) Maintenance

There is no right of private defence against an act done, by any person under the direction of a public
servant but is subjected to fulfilment of certain condition like

(A) The act must be done in good faith.

(B) The direction was not strictly justifiable by law.

(C) The directed act has not been generated reasonable apprehension of death.
(D) All of the above.

Muslim jurisprudence is known as:
(A) Figh
(B) Qiyas
(C) Koran
(D) Hadit

Which of the following is popularly known as “Forest Conservation Case”?

(A) Environment Awareness Forum Vs. State of J & K, 1999 1 SCC 210

(B) T.N. Godavarman Thirumulk Pad Vs. Union of India, 1997 2 SCC 267

(C) M.C. Metha Vs. Union of India, 1992 1 SCC 358

(D) Tata Engineering & Locomotive Co. Ltd Vs State of Bihar, 2000 5 SCC 346

Who is the author of "The Morality of Law"?

(A) Prof. Rawls
(B) Dworkin
(C) Dr. Allen
(D) Lon Fuller

‘Social Solidarity’ is the theory of
(A) Duguit

(B) Roscoe Pound

(C) Ehrlich

(D) Benthem

Which of the following is NOT a theory of Legal Personality?

(A) Fiction Theory

(B) Concession Theory
(C) Renner's Theory
(D) Bracket Theory
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82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

Mark the incorrect option

(A) Literal Rule - Grammatical or plain meaning of rule

(

Golden Rule - Purpose of Legislation

(

All professions are business, but all businesses are not professions are held in

A) P. Krishna Mohan v. CIT, (1959) 35 ITR 48 (SC)
(B) CIT v. PVG Rahju, (1975) 101 ITR465 (SC)
C)

(

(C) British South Africa Co. v. CIT, 19 ITR 17.

(D). CIT v. Best Chem and Limestone Industries Pvt. Ltd., (1994) 210 ITR 883 (raj).

Section 125 of the Cr.P.C. applies to:
(A) Hindus

(B) Muslims

(C) Christians

(D) Persons belonging to all religions

F.I.R. is lodged under which section of Cr.P.C.

(A) 154(1)
(C) 155(1)

(A) Anticipatory Bail

(B) Conditional Bail

(C) Regular Balil

(D) Inherent Powers of the High Court

B)
(C) Beneficial Construction Rule - Social Welfare Legislation
D) Harmonious Construction —To enforce object

?

(B) 154(2)
(D) 200

Section 482 of the Code of Criminal Procedure provides for

Provisions relating to Alternate Dispute Resolution is contained in which section of Code of Civil

Procedure?

(A) Section 87
(C) Section 89

(A) Erroneous decision.
(B) Jurisdictional Errors.
(C) Error of fact.
(D) Error of Law.

“Single Act of Adultery” is a ground for

(A) Judicial Separation

(B) Divorce

(C) Divorce and Judicial Separation both
(D) None of the above

(B) Section 88
(D). Section 90

In Code of Civil Procedure section 115 applies only to:

Which of the following is NOT a public document?

(A) Affidavit

(B) Judgment of Court
(C) Arrest-Warrant
(D) will

Confession of co-accused is admissible under which section of the Evidence Act?

(A) Section 30
(B) Section 31
(C) Section 32
(D) Section 33
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92.

93.

94.

95.

96.

97.

98.

99.

100.

Which Convention covers major area of the enforcement of foreign award?

(A) New Delhi Convention
(B) New York Convention
(C) Geneva Convention

(D) Stockholm Convention

Who makes appointment in International Commercial Arbitration?

(A) Chief Justice of India

(B) Attorney General of India

(C) President of India

(D) Secretary General of United Nations

Theories of State Succession does not include:

(A) Universal Succession theory
(B) Continuity theory

(C) Negative theory

(D) Positive theory

Universal Declaration of Human Rights was adopted by the General Assembly on:

(A) December 08", 1948
(B) October 08", 1948
(C) December 10", 1948
(D) January 01%, 1948

In which of the following case, the court held that “Dower is a sale-price of women”?

(A) Humara Begam’s case
(B) Abdul Kadir's case

(C) Subrunnissan’s case
(D) Shah Bano’s case

Res judicata is a part of General principles of Law. It was held in:

(A) Mavrommatis Palestine Concessions case
(B) S.S. Lotus Case

(C) U.N. Administrative Tribunal Case

(D) Serbian and Brazilian Loan Case

The first appointed Chairperson of NHRC was

(A) Justice Rangnath Mishra
(B) Justice D. Y. Chandrachud
(C) Justice J. S. Verma

(D) Justice H. R. Khanna

Limitation for taking cognizance of any offence punishable under section 138 of Negotiable

Instruments Act is prescribed under section:
(A) 138 (c)

(B) 138 (3)

(C) 142

(D) 145

Which of the following is not correctly matched?

(A) Payment in due course - section 10
(B) Holder in due course - section 9
(C) Negotiable Instrument - section 13
(D) Cheque - Section 18
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